(d) Ripe ﬁpples are crunchy and delicious. (Rx, Ax, Cx,
Dx)
9@ A7 & FER @ @iRe 3 ¥ 4

13. Prove the invalidity of the following arguments :
Pyt g @ ol R BT
(@) () (Bx> Fx) |
@) (Tx + E)
(b) (x (Px > ~Qx)
(x) (Qx > Rx) Py

/ =~ (x) (Ex>Tx)

(x) (Rx > ~ Px) 3x2=6
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wit gy sifaard &1

1. Use truth table method to determine the validity/invalidity
of the following arguments :

RLO,



46717,

W arch faftr g Prefafes afe o Saaede

ﬁuﬁaaﬁm:
(@ pe(gop) / =~ p
®)pvg)>(peq)-qp 4

Symbolize any two of the following :

Prefafe & & All @ 2 wehal & R -

{a) Unless the meeting of all leaders takes place, no decision
will be taken. ‘
T AF W TOAAT 568 T O 7w a B Fofa
frar T Hawr |

(b) Ram will be acquitted if he has a good lawyer.
T g8 & sum AR Swer @@ eret ¥

{c) The car runs only if there is fuel in the tank. :
TRt AT R war I A foer ¥y 4

Define the following in térms of (~, *) and (~, V) ;
PR @ (-, o) T (=, v) & TR 2 -
®=q)>5-p
Or (are)
o S 4
Use Reductio ad Absurdum method to determine the

validity/invalidity of the following :

2

Or (3maa)
) [pog)*~q]l D~p \ ¥

11. Construct a formal proof of validity for the following
arguments :
fmtttan o @ TR S o we A -
1% (a) (x) (Mx DNx)
(3x) (Mx » Ox) /
(b) Only pacifists are friends. There are religious friends.

& (3x) (Ox * Nx)

Therefore, pacifists are sometimes religious. (Px, Fx, Rx)
‘ Faw aifefd & G ¥ affs dw A Eoom:
% € Rt o offe R ¥ o g

12. Symbolize any two frorﬁ the following using suggested

notations :

frefafea & & i @ & m ¥ fod -

(@) Not a single philosopher attended the debate. (Px, Dx)
B¢ wF i o AR F R T8 R

(b) Only students are invited to attend the debate. (Sx. Dx)
&aa B B e w9 & g et ¥

(c) It is not the case that every Indian is eligible to vote in

- America. (Ix , Ex)

tar 7@ & 6wt ard softer # die e & drg
g1
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wgm ¥ wen Rt gw Feafafes @ Jeavedea
faie Fvm -
@p>og
gor /o ~pvr
(b) (CvD)>(C+D)
s /2.CvD ey

. Determine the logical status of the following :

Fr=ifefaa & o Rafa Faife ik -

(a) (qu)E'(-—qD-P)

®) @og(ro~p) ' 4

. Construct a formal proof of validity for the following
‘arguments ;-
Preffes gl & SR SoToT 2 W BT
@ If the demand stays constant and prices are lowered, then -
the business will increase. If the lowering of prices implies
business to increase, then we can control the market.
Demand will stay constant. Therefore we can control the
market.
gfe 7 R Bt @ SR Sid &9 & i § ar @R
§ gfig el R A § B0 § AR B @I @
qaed &, df 87 IR S FEhE a g €1 T R
wift gafee a7 o @ Fats W e ¥
3 _ P.T.O.



®adv~-NH-K
[~FLo~EKe*D]*[Ko(I>~M)]
[o.~Me+~L) ; 12

. Give the conditional proof of validity for the following :

=t @t Juar & e ywr SR
EoS
ES(SoN)
SS(No>F [/ - ESF 5

. Construct an indirect proof of validity for the following :
Frfafae @ s oo 2 Jua frafia &
(GvH)>~G [:.~G : 5

.- Use truth tree method to test the validity/invalidity of the
following :
g Ry g Pt @ Juaysdem Feiita 3
A>B |
5D
AvC  /:[(A*B) v(C*D)] 6

10. Reduce the following into either CNF or DNF :

frfafaa @ ST ST a1 IERE QT SRR H

yafda & :
(@@ >q 2>

4677 4 : 700
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